UlM

UNIVERSITI TEKNOLOGI MALAYSIA

SECI 2143-04 PROBABILITY & STATISTICAL DATA ANALYSIS — SEMESTER 2

Assignment 2

GROUP MEMBERS MATRIC NUMBER
AFIF BIN GENARI@AZHARI A21EC0003
MUHAMMAD ADAM HAIKAL BIN A21EC0062
MOHD SHUHADZLEE
MUHAMMAD FITRI BIN ISMAIL A21EC0076
MUHAMMAD SYAIF ALFARIZ BIN A21EC0094
ILYAS SUSANTO

Deadline of

submission: 12 May 2022




UESTION 1

Qurfh'un I
e e
bogl 503 2
(Puypie, Gretn rYehow) ( ",1‘:3-'"1

p) @y (0

=) '1 CPYL00Y, 00,3, (P, (UM, (02Y,06,3) 1 (a4 (1,0, 00,2) 01,1y (1]

\
Z—_‘] p1,f2,P3
r
b Yoo i
) Ball Ansya con toke / 3 L% = W
1
Hda
3

¢ _
Y ey removing  Ralls thar M hag 4ok

samplt (pace : ¢
?m.-b'.lng 2 = l/;
Before

"‘mu\'in’i HHI |hﬂ|‘ M hat bogk

?“WIFH Epﬂ”f =1

Possi blIiIE'q P = ‘/ 2
\




Coutgvign 1

£ computtrs

Windiws 10 (¢
10 Compuitre  (hrgmg (N
lg Ntilhte
9.
o) i, Wmputery that run gn windowi 19 gniy
26 -10 -i@ = . &
p -
N E ol
25
- com pultrs  dhat g, 10091¢ thrame gnly
25-10 - = 7
POy = = .28
=14
it SO M PUNEY  dnGl  wier Neithee Pr0gram
P\t\"i”m ‘o = oM
ay

Y How many (gmPulfri ron an winddw 19 an
15 10 = 15

) HOw many compultrr  thot ron on windowr 10
Computtve  windgwr 0 gnly =5
Lgm putEvi WO Gl"lltﬂ = 1
511 =11
PrsAam) =15 -2 =73

4 (_II“P“HH that AN On win dwl g only

= § tOw=pulres

chvg e

and

e bV et



Q we shi g I

B male 1§ female

Smolt + B ftmolt = Boahamos

"} f( baha mai’)

= 315

— = 0:267
111

B Mot v Phat Frim Bohamar = 3

10
PIMIBY = Prmng) 0

LN T
TS

—

€
i
P(MNG )= 3 Iz

30

PLBY = B
30

Yy pPIMyBY

[ 1]

Pemy 4 prBYy

il SO |

30 k4]

= E t 0-61
30



QUESTION 2

=T : . 1 'T-u___ﬂ___-.
_.__ﬁ“”'.'rl’-un. 1 . od RIS ' tn g 4
bl a) Plx-2): %4 -o033¢ ..
S—— _'_.—_—- ——
1 - "
b].l‘[‘h:,,ﬂ,__ai,r;, 1_55,‘!:, 0.5
. — -
) P(x4&2) e Wt PR 7= 0-F3p
' B 3’ s p.yg
d) Plx=ay oy f[xe0) = A ¢ /x ?

'.‘LI o) F{ X 2le) = 0-05 ¢} B-1. 4+ Q-0 = 0-23

ib] P(x710) = 02+ 0.06 = O.&

o1t ¥ 60F o= 0.l &, - -

'n Plx<y)

1) prx 2y) and Pty Q) =(0-13+0.284 P14 vegk pA2h0.0F) -
|

(0113 603 4 g1 40,25 4 0-1p)

| = p.%2 ¢ 0.7

| 0. Ly

&Y F[}{ :"%:I l,hb‘ f{“"ﬂ"}‘- E{}Ja,’.ﬁl_r" 0 1 d .05+ “.'1"_‘3.&] 3

(0.1 + 0.9% 4012 4 0.2d touig)

- ©°.p2-0.73

:u.LIgHL

£l FC1 ¢ x ¢4) =~ (6.2 40.19
2

- 0.23




—_—

: — e . i . . MNa. Dats
22 f(x20) = o, 0.2 + 525 + pc ¢ 0.y  O.0F
= o-a5,
L) F(x 23) = 025 + 0.5+ 0. 5 6.05

1]

n,L‘Ei

€) P(X4S) = 0.00 + 0-1 ¢ 03 +0.25 £0.1¢ + 0.1

-

ﬂ-"li'#_ )

4) P(2<X 4Y) = 0.3 +p.28

= 0-5";_,.
ar

e) FOX = even mumbtr) = 005 4+ 0.3 4 0.5 + 0.0F

* 0-5§%

&




UESTION 3

Ghuection b

(a) Rinpmial ditfiloutin-

{iby PCx) =z 0-02

Px>1) = PCX)- PCx2 1) -Plx=6)

AL

P (x=6) = S0C0 (0 02Y (1-0.02)5

6-316Y

LE]

PtX§|') = SocCi (_,g»o.)-)‘(‘,l-o:\-njl.)u['(i

: .z 0-3H
®

PCreject) = [ —0dH - 5-364

> O')-Gs‘ :

¢oty —> ﬁmﬁ;n% ol

| @07 53 Meuntaih bile -
N R :

{o PO=4) = 12Cq €o6)" (] -6:6) "

= 0-04L -




2 b) W“M
9(..5«,,9\:,(,,.43 v PCN=G) Pn:¢) PR N7
PA=u) = 0.042

[ I‘l-g.
Pi%=5) 2 12¢5 (0-CY (1-0-63 = 3101
PENeG) = |1Cf.(o-n"(u—0'{.|;-"

P(A=27).

=-01117

: 1=
(b -'l(o‘ef(:-o»n 921

PN 20:0L2 % 04014 04177, 0:337 = 9.5y

B FEEaY Bt Ly Cl-oyy

= O-OG;L}



Ques tign 3

i

5y TN =20:25 > make mistake
PN =015 5 pgy miftake

PO3ENLCY = pomepy + MAu) + ponzsy to P in=¢)

-3
PUN=3) = 5¢,1028Y (1-g-25¥F _ 0-3151

1;*l.|
A=) = '5.;“ (0'15')“{ 170:38) = g3y

’"w-g
PlA=CY . IE(‘. (0-35]5 ( 1-028) = g. 65|
5

18-
P(ﬁ‘-ﬁl‘ﬁ 1|§[_"{0_3§'§{1-].15"] = 0-0917

01353 +0-2253 *0:165] 4+ 0:097 = 0-1077
b)Y POACCYY = o0y + PO 4 P(H=2Y F[Jg.g\J

f('l=0'j = I%
Pre () =

Iy )
o028 (1-045) * = 0-0i3y

(‘-
S, 08y (1-g.28 ¥ = 00 6bg
15-2
(A= b Iﬁ:ﬂ(g-:si[ 1=0:387) = gq. I559
Fih= T

1 3
=15¢, 0038 (1-g.25) " - 0-215)

00134 4 9-066% 4 0-235140.1569 =0-4613 #§

)

.k {0V E PORS 3D 4 POH=3 4 Finsgp ) )
PCXY5) = | - (Pa0) s 4

4 Y i
Pinzy) = ‘1,_“ (038 (1-0-38) "= ¢-19306

_ = 0-94¢<|
'\ - 0-461340-1936 ¥



UESTION 4

ey
e p— ¥

Guetdaor Y _;___f_,;———————

—-—'—-_'_—-_-_—'— I

grdl

20 st pemelrale  On piled 7

L) 2o % Chanee = 0.
) e S

i b v e lan !
; e ditfripubion ls
mf._m%__,_ﬁf_ﬂ"*._.— TIripwn BN e P

P

Ff?r.} t('—l’) P

T-1
P(x-3) - 0-0-20) (0.20)

|L=) Ind r{h-EJ\-wH_ on T Pl-!e:!-

‘ P = owlpess o= nol TREEEEE . e bW o o ] »
| i e il 315{1&35‘
| = - = P
? = q’ | 5F avnsl Dadd
guccals
2 Y
; c"[ﬁ‘-lu}"[ﬂ‘ﬁfﬂ] = 0.-019%, <3
i
|
[ Y :
) wign= — _—Vﬂ_\r-ﬂhr_e < (iop)
F —
i =1
- |
o 2 - . e
6.20 o
S B (1~ 6.20)
a2
- gﬁ I O.2.0 R
= A -
__r&_




—

I r—
e

Mo. Data
2

_ﬂl_,iiL_EE___ﬂ!nnn{+tE

d3tibwhon  because Ha bial  wil
fweless

vepulbivy
[

fAnel ol . T4 5 nAnife proboliffy  unBl He fest
L4

Fuwe C egg O ccurs,

—

[ 5) X vepresent the

hetbey P numbey of participants +hat I ack

[ qﬁ?ﬂ = 0- Yo p= Bl a=1-F- o0

Hx) s qtp

P(x~)~ 0.0 (o-y)

= u'q.ﬂ

’a’l) Pixg2) = Prae=0) ¥ P(x~2) + P(2=3)

0-4 + (D.a'{o-q}) + [a-ra*(o.u;ﬁ)
o+ .24 + O-14Yy
0-72Y

L

L]




UESTION 5

Question S

L Xt §)

@) P (x>38) P21 ®)
= - 9 g [
zu ¥l _ 0,5- 0% Fx
¢ = 50300
- 1R3¢\
- § W Cevcentolyt = (049301 ool)
= 1. 839 - 3.01010
b -
(o) 3.01 x5000 = 150.{ oy \S| eandidate
(00

© P(z7n): o\t
PC276:93) = 3%
2.z ©:AY

2. :xo'F‘
6
'0“‘\51 )D-—‘"s
—_

1S

X,= \¥0:60m



No.: Date:

v-—-—';— DEAR - g -
B | peomw . - -
: - | ] "
B Melwed ey 0
| R FEN T L . R I o
| —_— Y S IR [ . - i e e
| X~ (13§, 5:46) .
@ P(X=1306) P22 a1 )
o 0'11'.\.1‘:‘;
| 2= w-17¥ .
$-46
z -1\l
by P (30¢ X €35)
i
PC x>36) ¢ B p(x<35) -
25 3638 % Y 2= 38-3}-¥ /},,»
S-4s =T s-u( o~ L7
-ty , o
= =Nt _,u.‘:ﬂ . -0.5l ot Ly
- ' 2 P(o-S1ez&t W)

= p-Ya3p-0:19C0

= 0.22 96,




S p(xons)

2= 35-3¢8

46
s =2

Nt

< =

Diate

CTAC N

P(z-23.34) > 0.5 0-410Y a
= o_.qﬁ\ow -
ey PUx 23%) ) -
i B J!- i1|? - i B -
" Y -u -
— -4 - _
—— p(z: ")~ 0.5-0.4633
- 0. 0o1u%
- A -




3. X~ nN(2:50,0-33)

@y p(x75) K sKeton of the stovdard novmal
densiby for the proporiien ot

= |- P(x<9) “‘aw\dums with ths onsht

S'loSD

——

N
u

0%}

= 3.0l

o

\- P(z<301)

1]

|- 0:99%}
0004

tb} QQW\(* P(qbabln\ﬂ\a = 0-00\}

© X~N(3,0s)

P X < \ud)

z \- PCxyYVuY)

"

it

£

Per cemtage = (0 - 153qx100°l:) = 15:39°|



